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3 Uugbobooogd

000000000000000000 (learning from examples) 0 0000000000000
00000o000.0000000000000UC000U000O00n (Do)UooooUooooooo
0000000000000 0U00o00,00000000000O00UO0UDOO0DO0 (Doooon)
gooooobooooob.ogoboboooooboooooboobo 200

e 100OO0OOO (supervised learning)
e 000000 (un-supervised learning)

0o00doo.ggooooooo0ooooooD,0goooooooo0gooooooooooooon
000,0000000000000 (examples, 0000 training sets) J00. 00O, 000000
oooo0oooUooUoOoooUOoUOUO0OUOU. 000, [O0O0000)0D00O00O0D0O0O00OO0
oo0ooo0,0000000000¢* 0000 w; 000000000000

1 H 1 Mol

Wy = wij+ﬁ§i & (1)
0000000O000o00. 000000000 ¢*oo0o0oUoooo0 (booooo): sSsoooo
000 ¢"00000000,000000no0oD : (1)000D0O00D00o000o00 (OoOooooo
oo boub,booooooon (1)DD§£L£§LDDDDDDDDDD

101
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000). 000000000000 000o00oo0. 00000 O0O0O0OU00OO0ODUOOoOOoUooO
oo.
oo,000000000000D0O0

e UD0OO (Batch learning)
e J00OOOUDO (On-line learninig)

g20000000C000.000000O0O00O000DOO00O0DOO0ODOOOOOO,00000000D02O
oboobooooooooooboooboobooooboo,0o0,0b0b00boo0ooboooo0oboobn
go,b0000boboooooobobobooooboboooo,oo0obobobooooboo,bo
ooboooobooooboboobooobo.oobooobooooobooboooboobo,booboOoboOoDbo
gboooooobooooooboon.

0000 (0o0)00o000000, 0000000000000 0O0DUOO0DUDOoUoOO,0oo
oobooboooooooooogooog,obooobooooooobooboobooboboob,boboobo
goooooooooobooboboooooooo,bobobooobooboboooDoboobDOo. obo,
gbboobobooooobooooobooooboooobooboooobOoooobOoooOooboobn
gbooooo,oboboocoboboooooboon.

3.1 Ouogoobooood

gobooboobobooooooboooooooooobooo,bo0obooobooooboo.obobogoon
00000 [D000000)000000000,00y0000000 «=(z1,22,--+,2zy) 0000

N
y = sgn(w-x)=sgn (Z wixi> (2)

i=1
o0ooooo0oU0oo0.o00oooo0oU0ooo0o0,0Uoo0o0 : (vy,y) 000, 000000000
gbogoobooboobobobobobobooboboobobooo,bboboboboobob, o
gbooobooboobooboooboboobooboobobobobboboobooboobon
O00.000,000000Hebb00O0O000O0DOODODO,000000DOODODOOOOOOODO.

3.1.1 OO0 HebbOOOOOOO
gog (w,y)DDDD,DDDDDDDDDDDDDD wOOODODDODODOOOOOOO0O.
wn+1) = wh) +yx (3)

000,00000000«0000000000000000000000000000000000
0(0O0)ooooooo.

0000,000 (3)0000000,00000000,0000000000000000 : (z,y)0
0000000000000000000000000000000000000 thwe00000000
0O0000000O0o0o0o.

3.1.2 0OO000O0O0O0OO0O000

0000000000000,000000000 20 |e|=+22+ --+25=1000000000
0000000,00000: (2,y)000000000000000000000 w* 00000000
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000 (0100). 00000,00000 |w'=+/})?+ (wy)?2=100000000000000
000.0000,60000000000000.

y X

A
W*

y X

w* x=0

0 1: 00w 00000000000,y (w*-2)>0000,00000000000.

5 = mingyerfy- (' @)} >0 (4)

00000000,004600000000000000«0000@MO00000000 : w*-2=00
000000,000000000000.00,FO00000000000000000,w*00000
00000000000000000000000,000 (z,y) e FOOOO ylw*-2)>000000
0O0O00o0oo0o0(@100).

wn)0 n000000000000000000000000000

ww(i+1l) = we(wl)+yz)=w" w(i)+y(w-x)
> w*-w(i)+ 6 (5)

gooobo.obb,b0bo0dddb+=000n—-100000000OO
w*-wn) > nd+e (6)

000000.000,¢=w"-w(0)000. 00000000000000000000000000
0000. 0000 ¢=0000000000. 000 w0)=000000000000,w(0)000
00000,6=00000000000000000000000000000000000,0000
0000000000000000000000000000000000000000000. 000
000000000 w(0)=0000000000.

0000 jw@)?0 y(w()-2)0000000000000000000000 (3)0000

lw(i+ 1> = |w(@)+yz|®=|wi) + 2y (w(i) - z) + y*|z|?
< Jw@)*+1 (7)

goo,0o0,bo0booboooboobgoon

lwa| < Vn (8)

gbo 130000
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0o000o0. o000, |lvw|=100000,0000000w00O0O,

Gw) = “’|u;|“’§1 9)
0000000000000, (6)(8)000
G(w(n) = “TT’?‘;)“%W (10)

00O0.000,vnd>1,0000n>620000 Gw")>1000 GOO0 1000000000
00000000,n<twq =02000.000,000000000000000000000000,
00000000 theea =96 2000000000,000000000000000000000000.
gbobO,0b0o0bo0ob0oobobooboboooboo0oobooooboOoOoOobooOoooooOooOooboon
gbooob,0bo0boobgoobobbooboobooboobobo.oobo,bo0booboo
02V0000000000000000000000000000000 ?

3.2 OUooooo

000000000,0000000000000000000000 (simple perceptron) 000
0.00,000000000000"' 0000000000,0000000000000,00000
0000000000.00000,00000000000000000000 (o7,¢) 0000000
0000,0000000000000000000000000000O0000O000O0. 00,00000
0000002000000 000000000000000000000000000000000
00000,0000000,00000000000000000000,0002N0000000O0
ooooo?.

00,0000 NOOOOOOOOOOOOOO0O0O0O0000000000000000000,0000
00000000 T=(T,T,---,Ty)00,000000000000 J = (J1,Jo,--+,Jy)0000. 0
000000000000 000,000000000000POOODODODO @ {&*dk}, u=1,---,P
000000000000 00000D0 (0D00000).000¢* 006, 0sgn(--)0000000D0

ol = sgn(T-€&") = (j{:1ﬂ§”> (11)

goooboooboooobog.
doo0o0o0ooooooooo,oo {¢',04} 0000 J 000000000, POODOOOOOOO
ooo0ooobo0o0obooOo0oJOo0oOoDObo0oOoooboOoOoooo

ot = sgn(J- €)= (ZJ§”> (12)
oo
ot = of V(uel,---,P) (13)

00000 (0 200).

000000000000 00000,00000000000000000000000000000.
2000000,0000000000000,000000000000000000000000000000000O0O0
000.0000000000000000000 2N/2N 000,0000000000000000000000000.
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U
E1
Eu T Teacher
2 0]
T
o
Student
J
E H

N

(0 2: 0000000000000.00,0000000000000000,00 ¢*000,0r=000000000000
ooJgooooooo.

33 Ouu20000 —DOOOooboobd —

gbooobobooobobo,cooobooooboooob. 0oboobooobo,0ob0o0o0oon
0000000000000 0O000000O0. O000DU0O0O0O0O000 (training error) DOO0O
oooooo

P

a(J;{¢",T) = Z Ji (€'}, T (14)

d(J; {8}, T) = @(—UTJ) (15)

oo0ooOoo.0oooe(--)o0o0oU0L0. 00000000, 00000000OUOLoooUoDOUO.

ooo,00b0000oooooboo0oooooooo0ooooooobooOoo0o0oOoooooooo. oo
ooooooboooo,bo0oboodobbooooooboboooooooooooocooooooonn
000000000 (0 300.). 000000000000 0DOO0D JO0O0O0DOO0DDO0ODOO,0000
00 (generalization error) 000000

= ) Ps(S)d(J;{S},T) (16)
(S}

00000.000,000000000000 Ps(S)0dJd00000O0O0OO0OO,00000O0OO
00000000000000000000000oooooo?.

000000000 e00000,0000000000000000¢* 000000000000
000o0o0oo0o0oo0oUo0. 00,00000000000000LODO0 (DO0ODO)oooUooo
gooooo.00Oo,0ooooé0ooo,ooooooooooonO P

P = Prob(le —e| > 4) (17)

o000 pOO0OODOOOODODOOOODOO.

3 00000000000000000000000000 JO0TO00000 Py(J),Pp(T)00000000000000
00000000000, 000000000000000000000000000 Ps(J) =68(J2—N), Pp(T) = 6(T2—N)
0oooooooo.
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+ -

0

*

0O ooo XX 0000 1

+
0

0O oooO XX 0000 1

(0 3: 000 100000000000.0000000000 6,000,00200<2<6,00000 +10,0,<2<1
00000 -1000000.0000,00000000000000000000006OO0DOODOOOODOO,0000000
gooooooo. 00000 e0ooOoOO0OO0O0OoOOOOO0OOOO, 000000000 DOO000O0ODOOOOBDODOO
ooooo0ooo0ooooOooo0ooooo,00d0, 0000000000000 O000000O00 (oOooooooooo
ooooooooOoon). 0000000 0oo0ooU0oo00o0, 0000000000000 000D0ODO0O0DOo

goooooo.

610: \

0300000,00000¢0000000002(#) 000000 or(t),es(t)000000

or(t) = sgnlf. —x(t)] (18)
os(t) = sen[0(t) —x(t)] (19)

O000.000,0000000000006)00O0O0O0
0t+1) = 6(t)— Aor(t)O[—or(t))os(t)] (20)

0000000000.0006e(-)00000000.0000000/00000000000
000006000000000,0000000000000000000000ADO06AOOO
oooooooooo.

000,00000¢000«(¢)0[0,1]0000000000,00/0000000000000
0,000 (20)0000000000000,6¢)00000000000000006(¢) 0000
000000000000. 00,000000000000 : El)=(6,—-6()?0000,00
00000000000000. 000,0000 A00000000000000,A00000
0000000000, =Xe“000000000000000000. 0000000000

obooobo,oo0o00n

() A=000000000
(b) A= Ageat

g2000000000000a0.
KDD,DDG*,DD,DDDO(O)D[0,1]DDDDDDDDDDDDD. /

gboo1weoonOd
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34 OUUoOoOoboooon

gbooooooobobobooooooooobob. oooboooobobobooooooooboon
oboooooooboboboooooooooobooobooooooobobob. oDobobooboooo
0,000,00000000000000000000000 —00O00 (learning curve) — 000
0000,00000000000000000000%.000,00000000000000000
000o0o00U00o0o00oo00U0OoO0O0U0OO0.000,000000D0O00O0D (Cobooooo
O0)NOOODO POODOOOOOOOUOOOOOUOODOO,00000 «0000O PN—o00

a = — ~0(1) (21)

gbooobooooboooboobon.

34.1 0OO00OO0O0OOOO0ODO

gboooboobg,boobgooboobgoboobboobog

N

J? = Y =N (22)
=1
N

T° = Y 1T?=N (23)
i=1

000000000000. 00000000000, J,70000004--)000000 :
N
Py(J) = 5<ZJE—N> (24)
=1
N
5<ZT3—N> (25)
=1

goooogoobooooogooo. booo, NOOOOOD J,TOO0DODOODOODO,000DO
oooooooJoOooOoOoo,000o0boooTo0oO0O0O00oOoDOOOO0OoOooODbDObOO0Oooooon
000%.000,J0T7T00000060000

Pr(T)

0
= 2 26
¢ = 2 (26)
goo.ooooo,0o0o00b0 J, 70000000 NOODOOOOO ROODOO
1 1 &
R = N(J-T)zﬁ;.]m
1 1
= —|J||IT|==VNVNcosf = cosb (27)
N N
goooogo,0bobob0ob0 ROODO
1
€ = —arccosR (28)
T

gbooooobooog.

400000000000000000000D000.
50000000000 200000000000000.0400000000.

gboo 1wroood
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0 4. 000.0000000000000000000000.

oo00,000000000000000000O00O00O000JO (2200000000 0O0O0OO
000000 (version space, 100000000 DOOO0)0000,0000,00J0000000
0000000000 000O0000O00. 000000000000 JUOOo0o0oUoooUo (oo)
000000 (Gibbs learning) 000O. J0O000O00O0O0OOOO0OO0OOO0OOOOOOOOOOOO
goo.

3.4.2 0O0O00O0O0OO

000000,00000000000000J0(22)00000000000,000000000
00000000000000.00000000,000000000000000000000000
000 (0500.)%.000,0()0J,T0000 R=cos(re) 0000 JOOODODOOOO0O,0
0000000000000000000 000001-00000000,PO00000000O000
00000000000000000000 Qp(e)0

QP(G) = Qp_l(e)(1—€):QP_Q(E)(l_G)QZ"':QO(E)(l_G)P (29)

O00000.00,0<e<1000001-e<1000,0p(e)000000DO0OO0OOOOODOOO
gooooooo.

00,Qp()0 N,P-000000000000000.00,0000 Q)0

Qole) = /m.n/mQUMJ?—Nm(%#JJD-mm@q> (30)
0000.000,dJ=[[;dJ; 00000. 000000000000000000000000

S(J2-N) = /_O;;l—ie”‘zﬂf‘m (31)

o(§0- M -eotng) = [ B e 2

00000000, 000000000000000000000J0000000J=T000 100000000000
ooooooooooo.

gbo 1w8ocooad
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P=infty

\/

P=pP

0 5 00000000000000000000.

ooooo, (30000

i dJdJdT . y e . .
Qo(e) / // / 2n)? /Nexp(—sz:(Jj) —T> J;Tj+NJ+ NT cos e

J

7T N
deT j ACOSﬂ'C > a A~
= [T et T [ asy e [0 4 77,0
—i00 o1 o0

dde N{J+T cos(me) TQ
/ / (27m')2/Ne{ Y exp 12 Z H (33)

gboooboooobooo. bgo j—)ijf'—)Z'TDDDDDDD,DDDD J; 0000000000
0,000000000.000,0000 Qe

Qo) = / /m d"dTexp( Ne(J. 1)) (34)
o(J,T) = log(W/J) Zj+j+TCOS7T€ (35)

gobooob. oo j,TDDDDDDDDDDDDDDDDDDDD,P,NDDDDDDDDDDD,

gboooooboooooboboobooboooob. ogon
0 0P

aJ or

oooo J, 70 J,.,7. 0000000000 (J,7,) 000000000

Qole) = exp (N@(j*,T*)) (37)
DOO0DD0.000 (36)00000000000000

1

1
21 — cos? e
o COS e (39)

1 — cos? me

Jo = (38)

gboo 190004
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S/N
P
T

2+ alpha=5 ------- B

_3 1 1 1 1 1 1 1 1 1
0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5
epsilon

U 6: 000 «=0,1,2,3,4,5000000000000000000 §/NOOODDO e000. «000000,S/NOOD
Jddde0os5000000000000000O0O00O0. 00,000000000O0OODOOOOOOOODOOOO,O00O0O
0000 100000,000000000001egl=0000000.000,000000000,0000000000O0A0
0000. 000000000 (D0o0)0D00000o00ooo0oooooooon, 9p(e)|<1,000,S<00000000O
goooooooo

O000oO0oooOo 35 0oooo
N i
Qo(e) = exp 5[1+10g27r—|—10gsm e (40)
D000D.000000000 Qp(e)0 (29)000
N s 2 Nalog(l—e)
Qp(e) = exp 3[1+10g277+10gsm el | e 8

= exp (N B(l + log 2m) + % log sin?(me) + alog(1 — e)])
= exp(S(,a)) (41)
S(e,a) = %(1 + log27) + %log sin?(me) 4+ alog(1 — ¢) (42)

000000 (P=NaOODO).

Qp()00000 0000000000 —00000JO0000000007 —00000,00
000000000000000 S(,0)00000000000000000000.06000000
«000000,000000000000000,000 $NO0000000000000. 000
00000000000000 00000000, 000000e 000000 000000000
0O(N)00D00000,000000000000000000000,N»00000000000
00000 000000000000000.0000000000000000000000000
00,000000000000000000000.000,0«0000 §NODO00O00 00
00000 () 00000000000000.00000

1
e(a) = argmax 3 log sin?(me) + alog(1 — €) (43)

7J000000000000,000000000000000000.

ugbo 1100000
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0.12

0.1

0.08

epsilon

0.06

0.04

0.02

0 50 100 150 200 250 300
alpha

0 7: 00000000000 (45) 0000000000000000000. 000 «00000000000000000
oo.

goo.

00000 600,a=0,000,0000000000000 e=1/2000, 00 random guess
000000000000 00000oO000,00000000. 00,000 «O000DO00O0O0O,S/NO
gboooboboegbOo0obOo0obOo0obOobO,0bo0boobobb.oobobbobb,0bao
gbooobooooobooosbOobOObOObOObOOObOOO0OOOobOOOOObOObOOODOODO.

343 0O0O0DOOO0ODOODOOO

(43)0000000O0OO0OUOOoOoOoUoO

mcos(me) =
sin(me) (-9 ’ (44)
ooo,
1-e = %tan(we) (45)

00000.070 (45)00000000,e0 0000000 OO0OOO0OOOOOOOO. DOOO
0,000 «0O00000OD0 ed0O0OO0O0ODOOODOODOODOOO.ODOODOODOOOODOODO
obobooboobobb0e=000000,000,70000000DOC0O0DOOOODOOOOODOO
gbooobobooo.oooo,0obo0ooob0ooooboooobooobobo,00ob00boooobo
O00000000000000000000000000. 0000,Qp(e)00000D0O0D0OD0OOO
o,0bboobooboooboobobooo,obooboboooo.

Ub0,aca—-occl000000D0O0O0O0DOODOOO0OOCOOOOOOOOOODOODOOOODOOODO,ex 1
000 (45)0000000,0000000.000

1—€¢ = gtan(ﬁe)zgﬂ'e:oze (46)
T T
ggd
1 1
= ~ = 47
‘ 1+ « (47)

ugbo 1110000
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-15 ~ T T T T T T T T

Fry \\\
2+ +M# . i

35 | +\#\ 4

log(epsilon)

45 oy g

_6 1 1 1 1 1 1 1 1
15 2 25 3 35 4 45 5 55 6
log(alpha)

00 8 00000 «0000000000000000. «000000000 «~'0000.

goooooooooobooooboooooboooooooo,0ooooobooboooooo.o8og T
gboooooooboboooooooboooo,bo -100oboo0oocobO0. 00000, 0000
00 (47)0ooO0O0UOooOoOoooooooooo.

a=01)0000000000000000000000000000000O00O0O00O00O0O00,
cU00000O0O0O0OO0O0DOOOOOODOOOOOOOOOOO,00O000DO0O0O000O00O0DOO0OO0
gbO.000,0000000000000,00000000000C00DOOOODOOOODOODOAO
gooooobooooobob,bo0obooboooboooooboboooobobooooboboboooboOoD.

Gll: \

0000000000, Qp(e) 00000000 DO0OOUODOOOD, 000100000000
Q000 ANODOODOOOO0O (ODO0OO0)O0O0O0O0DOO0. DOO0DOO0DDOOOOOOoO.

(1) Qui1(e) 0 Q,() 00DDOO0D00O0D000, Qp(e)0 Q) D e, A000000.
(2)0000000000,0000000000 S(60)0000,e000000000000
\ 0.00,e000000000000000000000. /

ugbo 1120000



